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Model Test One

Listening Comprehension

Part A Short Conversations

Directions; In Part A, you will hear ten short conversations between
two speakers. At the end of each conversation, a question will be
asked about what was said. The conversation and the question will
be spoken only once. After you hear a conversation and the question
about it, read the four possible answers in your paper, and decide
which one is the best answer to the question you have heard.

1. A. To close the windows.
B. To put on more clothes
C. To leave the windows open.
D. To know why the man feels cold.
2. A. The woman took the school bus to Lu Xun Park.
B. The school bus did not wait for the woman.
C. The school bus wasn’t waiting for her at the park.
D. The woman didn’t want to go to the park by bus.
3. A. Her family moved to the United States in 1880.
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Her family moved to the United States in 1818.

. Her family visited the United States two times in the 19th

century .

. Her family moved to the United States 60 years ago.

. He wanted the woman to come and visit him.

He has two umbrellas.
He could share his umbrella with her.

. He wanted to lend her a big umbrella.

12 B. 24.
18. D. 20.
. In the library. B. In the gym.
In a bank. D. Under a bench.

. She does not agree with the man.

She thinks the man made a good suggestion.
She doesn’t think the man made a wise decision.

. She thinks they should decide at once.

. Teacher-Student . B. Husband-Wife.
Doctor-Patient . D. Manager-Clerk .
. It’s too dry.

. It’s been raining.
. It’s been nice and sunny.

. It’s no use complaining about the weather.

She has seen the beautiful lights on Nanjing Road.
She hates to go to Nanjing Road at night.
She thinks everyone should go to see the lights.

. She will probably not go to see the night lights on Nanjing



Road.

Part B Longer Conversations

Directions: In Part B, you will hear two longer conversations. After
each conversation, you will be asked two questions. The conversa-
tions will be read twice, but the questions will be spoken only once.
When you hear a question, read the four possible answers in your

paper and decide which one would be the best answer to the question
you have heard.

Questions 11 and 12 are based on the following conversation.
11. A. She wants to be a musician.

She hasn’t decided yet.

She wants to be a doctor.

. She wants to be a piano teacher.

12. A. He wants to be a doctor.

. He wants to be a musician.

. He wants to be like his father.
. He wants to be successful.

DCoOwpPrODO®

Questions 13 and 14 are based on the following conversation.
13. A. She was trying to find out how many languages the man
could speak .
B. She was showing the man where Times Square was.
C. She was asking the way.
D. She was telling the man she could speak a lot of foreign lan-
5.
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14. A. Because she spoke too fast.
B. Because she did not speak clearly.
C. Because her English was too poor.
D. Because he knew very little English.
Part C Passages

Directions; In Part C, you will hear two short passages, and you
will be asked three questions on each of the passages. The passages
will be read twice but the questions will be spoken only once. When
you hear a question, read the four possible answers in your paper
and decide which one would be the best answer to the question you
have heard.

Questions 15 through 17 are based on the following passage.

15. A. She was tired of it.

B. She loved her more and more.

C. She wished it was a boy.

D. She thought it was too thin.

A. Alice told Rosie that the little baby gained two kilograms in

a week.

Alice said the little baby weighed 200 grams that week .

C. Alice told Rosie she did not want to talk about her sister any
more .

D. Alice told Rosie the little baby was 200 grams heavier than

it was the previous week.

16.

-
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Her neighbor’s baby .

B. A baby elephant.

C.
D.

Her own sister.
A baby monkey.

Questions 18 through 20 are based on the following passage.

18. A.

19.

20.

DOWRPUOWRPUDOW

Because he was always neatly dressed.
Because he was never late for class.
Because he had a good memory.

. Because he taught them a lot of knowledge.
. He lost his sight.

He lost his lecture notes.

He became very forgetful .

. He could not recognize his own son.

. Tom meant his father did not need his lecture notes now.
. Tom meant the glasses were badly broken.

. Tom meant his father should not use his lecture notes.

. Tom meant the lecture notes were torn.



Model Test Two

Listening Comprehension
Part A Short Conversations

Directions: In Part A, you will hear ten short conversations between

two speakers. At the end of each conversation, a question will be

asked about what was said. The conversation and the question will

be spoken only once. After you hear a conversation and the question

about it, read the four possible answers in your paper, and decide

which one is the best answer to the question you have heard.

1. A. In a park. B. In a library.
C. At a bookstore. D. At a museum.
2. A. At 4:30. B. At 5:30.
C. AtS. D. At 4.
3. A. White. B. Yellow.
C. Green. D. Blue.
4. A. Student-Teacher. B. Patient-Doctor.
C. Secretary-Boss. D. Tourist-Guide.
5. A. Students shouldn’t ride bikes to school on Mondays.
B. Girls shouldn’t ride bikes to school.
C. Bikes broke down too easily.
D. She wasn’t telling the truth.
6. A. No one could solve the last problem.
B. Zhang Jun was the only one who couldn’t solve the last prob-
. 8 .
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C. Only Zhang Jun could solve the last problem.
D. Zhang Jun could only solve the last problem.
7. A. Dec.25th. B. Dec.23rd.
C. Dec.28th. D. Dec.2%th.
8. A. The woman herself. B. Her typing teacher.
C. A friend. D. Her father.
9. A. Whiwitler. B. Wittler.
C. Whitler. D. Whittler.
10. A. She has become very rude.
B. She has become very fat.
C. She has lost too much weight.
D. She has been badly treated.

Part B Longer Conversations

Directions: In Part B, you will hear two longer conversations. After
each conversation, you will be asked two questions. The conversa-
tions will be read twice, but the questions will be spoken only once.
When you hear a question, read the four possible answers in your

paper and decide which one would be the best answer to the question

you have heard.

Questions 11 and 12 are based on the following conversation.

11. A. After the boy returned from school.
B. Just before the boy went to bed.

C. Shortly after supper.



. When the boy was about to go to school.
. He left it in school.

It was under his bed.

It was under his blanket.

. It was at the foot of the desk.

12
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Questions 13 and 14 are based on the following conversation.
13. A. At the main entrance.

B. At the east entrance.
On Main Street.
. At the women’s clothing department.
14. A. Some of the clothes were on sale.
They wanted to get some new dresses.

Many things in the department store were on sale.

Sowpr oo

. They wanted to buy some sweaters.

Part C Passages

Directions: In Part C, you will hear two short passages, and you
will be asked three questions on each of the passages. The passages
will be read twice but the questions will be spoken only once. When
you hear a question, read the four possible answers in your paper

and decide which one would be the best answer to the question you
have heard.

Questions 15 through 17 are based on the following passage.
15. A. Because the driver did not hear the bell.
. 10 .
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Because the bus was not at a bus stop.

. Because he thought the conductor wanted him to go on.
. Because the driver did not like Henry.
. Whoever wants to get off. B. The conductor.

The driver. D. A foreigner.

. Never ring the bell two times.
. Only the conductor can ring the bell.
. It’s not easy for a foreigner to ride on a bus.

. It’s important to know how to act in a new place.

Questions 18 through 20 are based on the following passage

18. A.

F’

195

20.

SowEOPD0

Because he loved pets.
Because he wanted a dog to protect the baby.

Because the dog was very clever.

. Because his wife was lonely and scared.
. Lucky. B. Mary.

David. D. A friend of the Blacks.

. He ran next door for help.

He went out to see the fire.

He carried the baby out to safety.

. He went to see who was screaming.
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